Surds Worksheet Solutions

1  Write V48 in the form k3, where £ is an integer.
Jazx = Juxzs = 43
(Total for question 1 is 2 marks)
2 Writey/50 in the form kv2 , where k is an integer.
/S‘ 6 = /2 $x2 = $J/z
(Total for question 2 is 2 marks)
3 Write 5V27 in the form kv 3, where k is an integer.
Sla = SJaxz = Sx3fz 1S3
(Total for question 3 is 2 marks)
4  Write 720 in the form kv 5 , where k is an integer.

Tfzo = TJaxs = 7x2ds = lads

(Total for question 4 is 2 marks)
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5  Expand and Simplify (2++v3)2-3) Y4 = 4 4—2./3--2/3- -3

(Total for question 5 is 2 marks)

6  Write (3 +V5 ) in the form a + b5, where a and b are integers.

9+ 645 +€
= g +6/5

(Total for question 6 is 2 marks)

7  Expand and Simplify (2 ++v5)(1—+5)

2 + ] —2Js —§
- —3 —J5

N

(Total for question 7 is 2 marks)

8  Write (3 —v2 )’ in the form a + b2, where @ and b are integers.
s ¥ ¢z +Lz ©o%

4 - (2 +2
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(3-1z X3~4=)
= 437 -3z +2
= N —4&/z

(Total for question 8 is 2 marks)
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9  Expand and Simplify 2+V3 )’ - (2-V3)

(s +afz+3) - (4 -4 +3)
: (H+ran)-(7-a%)
27 +4J0z -7 +alz
O e —

(Total for question 9 is 2 marks)
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10  Rationalise the denominator 6 = é %X E — é '[5 - ZE
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(Total for question 10 is 2 marks)

11  Rationalise the denominator - =
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X

(Total for question 11 is 2 marks)
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12  Rationalise the denominator
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(Total for question 12 is 2 marks)
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6 Simplify
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(Total for question 13 is 3 marks)

14 Simplify fully ¢+ 2‘5\/1)_54 —243)

You must show all your working.

= 1 +8{z—8[3 — %
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(Total for question 14 is 3 marks)
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15  Showthat 3 t2Y3  can be written as 4-+3
2++3
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2 +Jd3 2 -3
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(Total for question 15 is 3 marks)

16  Show that M can be written as \ 3
3+43

= 3.[3 +3 . 3—Jd3
3+03 3~43

- 9 +4 -4 —3483
37— 3T
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(Total for question 16 is 3 marks)
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17  Show that 1 can be written as
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(Total for question 17 is 3 marks)

18  Show that i 2 can be written as 3 — /3
——+1

V3
Relkiply  muneschs and devominbys by /3
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= 3-03

(Total for question 18 is 3 marks)
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6 Simplify fully (ya+ yb)(yJa—+b)
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(Total for question 19 is 2 marks)

20

Simplify fully (2a ++/b )

= 4« +aalt +b

2 g8
((ws{' + €Euvice (rw(uo‘é' 4 §4<°*~°")

(2a+ 5 ) 2a +15)
4;‘2 + 2a b+ 2a (s 44

4;._2 4—4—6..(2- +4
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(Total for question 20 is 2 marks)
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